


















































































































































RHOTRIX THEORY

B Thus, We have,

, v 2 1

Ri=( 0 1 14 o<4 1 1>=ﬂ=<4 ( l5>
0 3 p
4 2 6

R/z'.—_-<0 1 9>o<4 1 1>_.___<4 1 10>

R3'=<0 1 0>0<4 1 1>=<4 1 1>
0 3 3

Therefore, we have the sequence corresponding to Ri',R;’ and Ry as 11, 15, 6, 10,

B 3, 1.
' lF The alphabetical equivalent to these numbers is KOFJCA.

| ~ This is our encrypted message.

3.2 Decryption using Heart-Oriented Multiplication

For decryption using rhotrices, we proceed using the following algorithm with the
assumption that we have an encrypted text (cipher text) in hand to be decrypted

(transformed into plaintext) and the key rhotrix K with which the plaintext was
initially encrypted.
Step 1: Finding the inverse of key rhotrix

Find the inverse K ' of the key rhotrix K.

Step 2: Finding the numerical equivalent of the cipher text
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